



ORIGINAL ARTICLE

# Rate of convergence for generalized Baskakov operators

Vijay Gupta, Rani Yadav \*

School of Applied Sciences, Netaji Subhas Institute of Technology, Sector 3, Dwarka, New Delhi 110 078, India

Received 8 March 2011; revised 13 May 2011; accepted 7 August 2011  
Available online 21 September 2011

## KEYWORDS

Bounded variation;  
Baskakov operators;  
Beta basis functions;  
Simultaneous approximation

**Abstract** In the present paper, we consider the generalized Baskakov operators having the weight functions of Beta basis functions. We study the rate of convergence for functions having derivatives of bounded variation.

© 2011 King Saud University. Production and hosting by Elsevier B.V.  
All rights reserved.

## Introduction

To approximate Lebesgue integrable functions on the interval  $[0, \infty)$ , Gupta [6] introduced the integral modification of the well known Baskakov operators by taking the weight functions of Beta basis functions. It was observed in [6] that by taking weights of Beta basis functions, one can have better approximation than the usual Baskakov–Durrmeyer operators [7]. In [6] the author has estimated an asymptotic formula and error estimation in simultaneous approximation for the Baskakov–Beta operators. In recent years a lot of work has been done on such

\* Corresponding author. Tel.: +91 9999015326.

E-mail addresses: vijaygupta2001@hotmail.com (V. Gupta), raniyadav23@gmail.com (R. Yadav).

1319-5166 © 2011 King Saud University. Production and hosting by Elsevier B.V. All rights reserved.

Peer review under responsibility of King Saud University.

doi:10.1016/j.ajmsc.2011.08.001



Production and hosting by Elsevier

operators, we refer to some of the important papers on the recent developments on similar types of operators (see [1–5,8], etc.). We can define the Baskakov–Beta operators in generalized form as:

$$V_{n,r}(f, x) = \frac{(n+r-1)!(n-r-1)!}{((n-1)!)^2} \sum_{k=0}^{\infty} p_{n+r,k}(x) \int_0^{\infty} b_{n-r,k+r}(t) f(t) dt, \quad (1.1)$$

where  $n \in \mathbb{N}$ ,  $r \in \mathbb{N}^0$ ,  $n > r$  and the Baskakov and Beta basis functions are respectively defined as

$$p_{n,k}(x) = \binom{n+k-1}{k} \frac{x^k}{(1+x)^{n+k}}, \quad b_{n,k}(t) = \frac{1}{B(k+1, n)} \frac{t^k}{(1+t)^{n+k+1}},$$

and  $B(m, n) = \frac{(m-1)!(n-1)!}{(n+m-1)!}$ .

The rate of convergence for certain Durrmeyer type operators and their Bézier variants is one of the important areas of research in recent years. Zeng and collaborators have done commendable work in this direction and they estimated the rate of convergence for bounded/bounded variation functions (see [9–11]). In the present article, we extend the studies and here we estimate the rate of convergence for functions having derivatives of bounded variation.

## Auxiliary results

In the sequel, we need the following results:

**Lemma 1** [6]. *Let the  $m \in \mathbb{N}^0$ ,  $x \in [0, \infty)$ , and suppose that*

$$T_{n,r,m}(x) = \sum_{k=0}^{\infty} p_{n+r,k}(x) \int_0^{\infty} b_{n-r,k+r}(t) (t-x)^m dt.$$

Then,

$$T_{n,r,0}(x) = 1; \quad T_{n,r,1}(x) = \frac{(1+r) + x(1+2r)}{n-r-1}, \quad n > r+1$$

and

$$T_{n,r,2}(x) = \frac{2(2r^2 + 4r + n + 1)x^2 + 2(2r^2 + 5r + n + 2)x + r^2 + 3r + 2}{(n-r-1)(n-r-2)},$$

$$n > r+2.$$

Also for  $n > m + r + 1$ , there holds the recurrence relation:

$$(n-m-r-1)T_{n,r,m+1}(x) = x(1+x) \left[ T'_{n,r,m}(x) + 2mT_{n,r,m-1}(x) \right] \\ + [(m+r+1)(1+2x) - x]T_{n,r,m}(x).$$

Consequently for all  $x \in [0, \infty)$ , we have

$$T_{n,r,m}(x) = O(n^{-[(m+1)/2]}),$$

where  $[\alpha]$  denotes the integral part of  $\alpha$ .

**Remark 1.** From Lemma 1, taking  $n$  to be sufficiently large,  $x \in (0, \infty)$ , we observe that

$$\frac{2x(1+x)}{n-r-2} \leq T_{n,r,2}(x) \leq \frac{Cx(1+x)}{n-r-2}, \quad \text{for } (C > 2).$$

**Remark 2.** Applying the Cauchy–Schwarz inequality and keeping the same conditions as in Remark 1 for  $x$ ,  $n$  and  $C$ , we derive from Lemma 1, that

$$\sum_{k=0}^{\infty} p_{n+r,k}(x) \int_0^{\infty} b_{n-r,k+r}(t) |t-x| dt \leq [T_{n,r,2}(x)]^{\frac{1}{2}} \leq \sqrt{\frac{Cx(1+x)}{n-r-2}}.$$

**Lemma 2.** Suppose that  $x \in (0, \infty)$  and  $C > 2$ , then for sufficiently large  $n$ , we have

$$\lambda_{n,r}(x, y) = \sum_{k=0}^{\infty} p_{n+r,k}(x) \int_0^y b_{n-r,k+r}(t) dt \leq \frac{Cx(1+x)}{(n-r-2)(x-y)^2}, \quad 0 \leq y < x$$

$$1 - \lambda_{n,r}(x, z) = \sum_{k=0}^{\infty} p_{n+r,k}(x) \int_z^{\infty} b_{n-r,k+r}(t) dt \leq \frac{Cx(1+x)}{(n-r-2)(z-x)^2}, \quad x < z < \infty.$$

**Proof.** The proof follows directly from Remark 1, as for the first inequality, for sufficiently large  $n$ , we have

$$\begin{aligned} \lambda_{n,r}(x, y) &= \sum_{k=0}^{\infty} p_{n+r,k}(x) \int_0^y b_{n-r,k+r}(t) dt \\ &\leq \sum_{k=0}^{\infty} p_{n+r,k}(x) \int_0^y b_{n-r,k+r}(t) \frac{(t-x)^2}{(y-x)^2} dt = \frac{T_{n,r,2}(x)}{(y-x)^2} \\ &\leq \frac{Cx(1+x)}{(n-r-2)(x-y)^2}. \end{aligned}$$

Similarly, we can prove the second inequality.  $\square$

**Lemma 3.** Let us consider that  $f$  be  $s$  times differentiable on  $[0, \infty)$  such that  $f^{(s-1)}(t) = O(t^q)$ , as  $t \rightarrow \infty$  where  $q$  is a positive integer. Then for any  $r, s \in \mathbb{N}^0$  and  $n > \max\{q, r + s + 1\}$ , we have

$$D^s V_{n,r}(f, x) = V_{n,r+s}(D^s f, x), \quad D \equiv \frac{d}{dx}.$$

**Proof.** First

$$\begin{aligned} D[p_{n,k}(x)] &= \binom{n+k-1}{k} D \frac{x^k}{(1+x)^{n+k}} \\ &= \binom{n+k-1}{k} \left[ k \frac{x^{k-1}}{(1+x)^{n+k}} - (n+k) \frac{x^k}{(1+x)^{n+k+1}} \right] \\ &= \frac{(n+k-1)!}{(k-1)!(n-1)!} \frac{x^{k-1}}{(1+x)^{n+k}} - \frac{(n+k-1)!}{k!(n-1)!} (n+k) \frac{x^k}{(1+x)^{n+k+1}} \\ &= n \binom{(n+1)+(k-1)-1}{k-1} \frac{x^{k-1}}{(1+x)^{n+k}} - \binom{n+k}{k} \frac{x^k}{(1+x)^{n+k+1}}. \end{aligned}$$

Thus

$$D[p_{n,k}(x)] = n[p_{n+1,k-1}(x) - p_{n+1,k}(x)]. \quad (2.1)$$

Proceeding along similar lines, we have

$$D[b_{n,k}(x)] = n[b_{n+1,k-1}(x) - b_{n+1,k}(x)] \quad (2.2)$$

The identities (2.1) and (2.2), are true even for the case  $k = 0$ , as we observe that  $b_{n+1,negative}(x) = 0$  and  $p_{n+1,negative}(x) = 0$ . We shall prove the result by using the principle of mathematical induction. Using (2.1) and (2.2), we have

$$\begin{aligned} D[V_{n,r}(f, x)] &= \frac{(n+r-1)!(n-r-1)!}{((n-1)!)^2} \sum_{k=0}^{\infty} D p_{n+r,k}(x) \int_0^{\infty} b_{n-r,k+r}(t) f(t) dt \\ &= \frac{(n+r-1)!(n-r-1)!}{((n-1)!)^2} \sum_{k=0}^{\infty} (n+r) [p_{n+r+1,k-1}(x) - p_{n+r+1,k}(x)] \\ &\quad \times \int_0^{\infty} b_{n-r,k+r}(t) f(t) dt \\ &= \frac{(n+r)!(n-r-1)!}{((n-1)!)^2} \sum_{k=0}^{\infty} p_{n+r+1,k}(x) \int_0^{\infty} [b_{n-r,k+r+1}(t) \\ &\quad - b_{n-r,k+r}(t)] f(t) dt. \end{aligned}$$

Using (2.2), and integrating by parts we have

$$\begin{aligned} DV_{n,r}(f, x) &= \frac{(n+r)!(n-r-1)!}{((n-1)!)^2} \sum_{k=0}^{\infty} p_{n+r+1,k}(x) \int_0^{\infty} -\frac{D[b_{n-r-1,k+r+1}(t)]}{n-r-1} f(t) dt \\ &= \frac{(n+r)!(n-r-2)!}{((n-1)!)^2} \sum_{k=0}^{\infty} p_{n+r+1,k}(x) \int_0^{\infty} b_{n-r-1,k+r+1}(t) f^{(1)}(t) dt \\ &= V_{n,r+1}(Df, x), \end{aligned}$$

which means that the identity is satisfied for  $s = 1$ . Let us suppose that the result holds for  $s = l$ , i.e.,

$$\begin{aligned} D^l V_{n,r}(f, x) &= V_{n,r+l}(D^l f, x) \\ &= \frac{(n+r+l-1)!(n-r-l-1)!}{((n-1)!)^2} \sum_{k=0}^{\infty} p_{n+r+l,k}(x) \\ &\quad \times \int_0^{\infty} b_{n-r-l,k+r+l}(t) D^l f(t) dt. \end{aligned}$$

Now,

$$\begin{aligned} D^{l+1} V_{n,r}(f, x) &= \frac{(n+r+l-1)!(n-r-l-1)!}{((n-1)!)^2} \sum_{k=0}^{\infty} D p_{n+r+l,k}(x) \\ &\quad \times \int_0^{\infty} b_{n-r-l,k+r+l}(t) D^l f(t) dt \\ &= \frac{(n+r+l-1)!(n-r-l-1)!}{((n-1)!)^2} \sum_{k=0}^{\infty} (n+r+l) [p_{n+r+l+1,k-1}(x) \\ &\quad - p_{n+r+l+1,k}(x)] \int_0^{\infty} b_{n-r-l,k+r+l}(t) D^l f(t) dt \\ &= \frac{(n+r+l)!(n-r-l-1)!}{((n-1)!)^2} \sum_{k=0}^{\infty} p_{n+r+l+1,k}(x) \\ &\quad \times \int_0^{\infty} [b_{n-r-l,k+r+l+1}(t) - b_{n-r-l,k+r+l}(t)] D^l f(t) dt \\ &= \frac{(n+r+l)!(n-r-l-1)!}{((n-1)!)^2} \sum_{k=0}^{\infty} p_{n+r+l+1,k}(x) \\ &\quad \times \int_0^{\infty} -\frac{D[b_{n-r-l-1,k+r+l+1}(t)]}{n-r-l-1} D^l f(t) dt. \end{aligned}$$

Integrating by parts the last integral, we get

$$D^{l+1}V_{n,r}(f, x) = \frac{(n+r+l)!(n-r-l-2)!}{((n-1)!)^2} \sum_{k=0}^{\infty} P_{n+r+l+1,k}(x) \\ \times \int_0^{\infty} b_{n-r-l-1,k+r+l+1}(t) D^{l+1}f(t) dt.$$

Therefore,

$$D^{l+1}V_{n,r}(f, x) = V_{n,r+l+1}(D^{l+1}f(x)).$$

Thus the result is true for  $s = l + 1$ , hence by mathematical induction, proof of the lemma is complete.  $\square$

### Rate of convergence

The class of absolutely continuous functions  $f$  defined on  $(0, \infty)$  is defined by  $B_q(0, \infty)$ ,  $q > 0$  and satisfying:

- (i)  $|f(t)| \leq C_1 t^q$ ,  $C_1 > 0$ ,
- (ii) having a derivative  $f'$  on the interval  $(0, \infty)$  which coincide a.e. with a function which is of bounded variation on every finite sub-interval of  $(0, \infty)$ . It can be observed that for all functions  $f \in B_q(0, \infty)$  possess for each  $C > 0$  the representation

$$f(x) = f(c) + \int_c^x \psi(t) dt, \quad x \geq c.$$

**Theorem 1.** Let  $f \in B_q(0, \infty)$ ,  $q > 0$  and  $x \in (0, \infty)$ . Then for  $C > 2$  and  $n$  sufficiently large, we have

$$\left| \frac{((n-1)!)^2}{(n+r-1)!(n-r-1)!} V_{n,r}(f, x) - f(x) \right| \\ \leq \frac{C(1+x)}{n-r-2} \sum_{k=1}^{\lfloor \sqrt{n} \rfloor} \bigvee_{x-x/k}^{x+x/k} ((f')_x) + \frac{x}{\sqrt{n}} \bigvee_{x-x/\sqrt{n}}^{x+x/\sqrt{n}} ((f')_x) + \frac{C(1+x)}{(n-r-2)x} (|f(2x) - f(x)| \\ - x|f'(x^+)| + |f(x)|) + O(n^{-q}) + |f'(x^+)| \frac{C(1+x)}{n-r-2} + \frac{1}{2} \sqrt{\frac{Cx(1+x)}{n-r-2}} |f'(x^+)| \\ - |f'(x^-)| + \frac{1}{2} |f'(x^+) + f'(x^-)| \frac{(1+r) + x(1+2r)}{n-r-1},$$

where  $\bigvee_a^b f(x)$  denotes the total variation of  $f_x$  on  $[a, b]$ , and the auxiliary function  $f_x$  is defined by

$$f_x(t) = \begin{cases} f(t) - f(x^-), & 0 \leq t < x; \\ 0, & t = x; \\ f(t) - f(x^+), & x < t < \infty. \end{cases}$$

**Proof.** On applying the mean value theorem, we get

$$\begin{aligned} & \left| \frac{((n-1)!)^2}{(n+r-1)!(n-r-1)!} V_{n,r}(f, x) - f(x) \right| \\ & \leq \sum_{k=0}^{\infty} p_{n+r,k}(x) \int_0^{\infty} b_{n-r,k+r}(t) |f(t) - f(x)| dt \\ & = \int_0^{\infty} \left| \int_x^t \sum_{k=0}^{\infty} p_{n+r,k}(x) b_{n-r,k+r}(t) f'(u) du \right| dt. \end{aligned}$$

Also, using the identity

$$\begin{aligned} f'(u) &= \frac{f(x^+) + f(x^-)}{2} + (f')_x(u) + \frac{f(x^+) - f(x^-)}{2} \operatorname{sgn}(u - x) \\ &+ \left[ f(x) - \frac{f(x^+) + f(x^-)}{2} \right] \chi_x(u), \end{aligned}$$

where

$$\chi_x(u) = \begin{cases} 1, & u = x; \\ 0, & u \neq x. \end{cases}$$

We can see that

$$\sum_{k=0}^{\infty} p_{n+r,k}(x) \int_0^{\infty} \left( \int_x^t \left( f'(x) - \frac{f(x^+) + f(x^-)}{2} \right) \chi_x(u) du \right) b_{n-r,k+r}(t) dt = 0.$$

Now, by using the above identities, we have

$$\begin{aligned} & \left| \frac{((n-1)!)^2}{(n+r-1)!(n-r-1)!} V_{n,r}(f, x) - f(x) \right| \\ & \leq \left| \int_0^{\infty} \left( \int_x^t \sum_{k=0}^{\infty} p_{n+r,k}(x) b_{n-r,k+r}(t) \left( \frac{f(x^+) + f(x^-)}{2} + (f')_x(u) \right) du \right) dt \right| \\ & + \left| \int_0^{\infty} \left( \int_x^t \sum_{k=0}^{\infty} p_{n+r,k}(x) b_{n-r,k+r}(t) \frac{[f(x^+) - f(x^-)]}{2} \operatorname{sgn}(u - x) du \right) dt \right|. \end{aligned} \tag{3.1}$$

Also, we have

$$\begin{aligned} & \left| \int_0^\infty \left( \int_x^t \frac{[f'(x^+) - f'(x^-)]}{2} \operatorname{sgn}(u-x) du \right) \sum_{k=0}^\infty p_{n+r,k}(x) b_{n-r,k+r}(t) dt \right| \\ & \leq \frac{|f'(x^+) - f'(x^-)|}{2} [T_{n,r,2}(x)]^{1/2} \end{aligned} \quad (3.2)$$

and

$$\begin{aligned} & \int_0^\infty \left( \int_x^t \frac{[f'(x^+) + f'(x^-)]}{2} du \right) \sum_{k=0}^\infty p_{n+r,k}(x) b_{n-r,k+r}(t) dt \\ & = \frac{[f'(x^+) + f'(x^-)]}{2} T_{n,r,1}(x). \end{aligned} \quad (3.3)$$

Combining (3.1)–(3.3), we have

$$\begin{aligned} & \left| \frac{((n-1)!)^2}{(n+r-1)!(n-r-1)!} V_{n,r}(f, x) - f(x) \right| \\ & \leq \left| \int_x^\infty \left( \int_x^t (f')_x(u) du \right) \sum_{k=0}^\infty p_{n+r,k}(x) b_{n-r,k+r}(t) dt \right. \\ & \quad \left. + \int_0^x \left( \int_x^t (f')_x(u) du \right) \sum_{k=0}^\infty p_{n+r,k}(x) b_{n-r,k+r}(t) dt \right| \\ & \quad + \frac{|f'(x^+) - f'(x^-)|}{2} [T_{n,r,2}(x)]^{1/2} + \frac{|f'(x^+) + f'(x^-)|}{2} T_{n,r,1}(x) \\ & = |A_{n,r}(f, x) + B_{n,r}(f, x)| + \frac{|f'(x^+) - f'(x^-)|}{2} [T_{n,r,2}(x)]^{1/2} \\ & \quad + \frac{|f'(x^+) + f'(x^-)|}{2} T_{n,r,1}(x). \end{aligned} \quad (3.4)$$

Applying Remark 2 and Lemma 1, in (3.4), we have

$$\begin{aligned} & \left| \frac{((n-1)!)^2}{(n+r-1)!(n-r-1)!} V_{n,r}(f, x) - f(x) \right| \\ & \leq |A_{n,r}(f, x)| + |B_{n,r}(f, x)| + \frac{|f'(x^+) - f'(x^-)|}{2} \sqrt{\frac{Cx(1+x)}{n-r-2}} \\ & \quad + \frac{|f'(x^+) + f'(x^-)|}{2} \frac{(1+r) + x(1+2r)}{n-r-1}. \end{aligned} \quad (3.5)$$



The estimation of the terms  $A_{n,r}(f, x)$  and  $B_{n,r}(f, x)$  will lead to proof of the theorem.

First,

$$\begin{aligned}
 |A_{n,r}(f, x)| &= \left| \int_x^\infty \left( \int_x^t (f')_x(u) du \right) \sum_{k=0}^\infty p_{n+r,k}(x) b_{n-r,k+r}(t) dt \right| \\
 &= \left| \int_{2x}^\infty \left( \int_x^t (f')_x(u) du \right) \sum_{k=0}^\infty p_{n+r,k}(x) b_{n-r,k+r}(t) dt \right. \\
 &\quad \left. + \int_x^{2x} \left( \int_x^t (f')_x(u) du \right) d_t(1 - \lambda_{n,r}(x, t)) \right| \\
 &\leq \left| \sum_{k=0}^\infty p_{n+r,k}(x) \int_{2x}^\infty (f(t) - f(x)) b_{n-r,k+r}(t) dt \right| \\
 &\quad + |f'(x^+)| \left| \sum_{k=0}^\infty p_{n+r,k}(x) \int_{2x}^\infty b_{n-r,k+r}(t)(t - x) dt \right| \\
 &\quad + \left| \int_x^{2x} (f')_x(u) du \right| |1 - \lambda_{n,r}(x, 2x)| \\
 &\quad + \int_x^{2x} |(f')_x(t)| |1 - \lambda_{n,r}(x, t)| dt \\
 &\leq \sum_{k=0}^\infty p_{n+r,k}(x) \int_{2x}^\infty b_{n-r,k+r}(t) C_1 t^{2q} dt \\
 &\quad + \frac{|f(x)|}{x^2} \sum_{k=0}^\infty p_{n+r,k}(x) \int_0^\infty b_{n-r,k+r}(t)(t - x)^2 dt \\
 &\quad + |f'(x^+)| \int_{2x}^\infty \sum_{k=0}^\infty p_{n+r,k}(x) b_{n-r,k+r}(t) |t - x| dt \\
 &\quad + \frac{C(1+x)}{(n-r-2)x} |f(2x) - f(x) - xf'(x^+)| \\
 &\quad + \frac{C(1+x)}{n-r-2} \sum_{k=1}^{[\sqrt{n}]} \sqrt{\frac{x+\frac{x}{k}}{x}} + \frac{x}{\sqrt{n}} \sqrt{\frac{x+\frac{x}{n}}{x}}. \tag{3.6}
 \end{aligned}$$

For estimating the integral  $(n-r-1) \sum_{k=0}^\infty p_{n+r,k}(x) \int_{2x}^\infty b_{n-r,k+r}(t) C_1 t^{2q} dt$  in (3.6) above, we proceed as follows:

Obviously  $t \geq 2x$  implies that  $t \leq 2(t-x)$  and it follows from Lemma 1, that

$$\begin{aligned}
 \sum_{k=0}^\infty p_{n+r,k}(x) \int_{2x}^\infty b_{n-r,k+r}(t) t^{2q} dt &\leq C_1 2^{2q} \sum_{k=0}^\infty p_{n+r,k}(x) \int_0^\infty b_{n-r,k+r}(t)(t-x)^{2q} dt \\
 &= C_1 2^{2q} T_{n,r,2q}(x) = O(n^{-q})(n \rightarrow \infty).
 \end{aligned}$$

To estimate the second term, we use Remark 1, thus

$$\frac{|f(x)|}{x^2} \sum_{k=0}^{\infty} p_{n+r,k}(x) \int_0^{\infty} b_{n-r,k+r}(t)(t-x)^2 dt = \frac{|f(x)|}{x^2} \cdot \frac{Cx(1+x)}{n-r-2}.$$

Applying Schwarz inequality and Remark 1, third term in right hand side of (3.6) is estimated as follows:

$$\begin{aligned} & |f'(x^+)| \sum_{k=0}^{\infty} p_{n+r,k}(x) \int_{2x}^{\infty} b_{n-r,k+r}(t)|t-x| dt \\ & \leq \frac{|f'(x^+)|}{x} \sum_{k=0}^{\infty} p_{n+r,k}(x) \int_0^{\infty} b_{n-r,k+r}(t)(t-x)^2 dt = |f'(x^+)| \frac{C(1+x)}{n-r-2}. \end{aligned}$$

By collecting the estimates, we have

$$\begin{aligned} |A_{n,r}(f, x)| & \leq \mathcal{O}(n^{-q}) + |f'(x^+)| \cdot \frac{C(1+x)}{n-r-2} + \frac{C(1+x)}{(n-r-2)x} (|f(2x) - f(x) \\ & \quad - xf'(x^+)| + |f(x)|) + \frac{C(1+x)}{n-r-2} \sum_{k=1}^{[\sqrt{n}]} \bigvee_x^{x+\frac{x}{k}}((f')_x) + \frac{x}{\sqrt{n}} \bigvee_x^{x+\frac{x}{\sqrt{n}}}((f')_x). \end{aligned} \tag{3.7}$$

On applying, Lemma 2 with  $y = x - \frac{x}{\sqrt{n}}$ , and integrating by parts, we have

$$\begin{aligned} |B_{n,r}(f, x)| & = \left| \int_0^x \int_x^t (f')_x(u) du d_t(\lambda_{n,r}(x, t)) \right| = \int_0^x \lambda_{n,r}(x, t) (f')_x(t) dt \\ & \leq \left( \int_0^y + \int_y^x \right) |(f')_x(t)| \lambda_{n,r}(x, t) dt \\ & \leq \frac{Cx(1+x)}{n-r-2} \int_0^y \bigvee_t^x((f')_x) \frac{1}{(x-t)^2} dt + \int_y^x \bigvee_t^x((f')_x) dt \\ & \leq \frac{Cx(1+x)}{n-r-2} \int_0^y \bigvee_t^x((f')_x) \frac{1}{(x-t)^2} dt + \frac{x}{\sqrt{n}} \bigvee_{x-\frac{x}{\sqrt{n}}}^x((f')_x) \\ & = \frac{Cx(1+x)}{n-r-2} \int_1^{\sqrt{n}} \bigvee_{x-\frac{x}{u}}^x((f')_x) du + \frac{x}{\sqrt{n}} \bigvee_{x-\frac{x}{\sqrt{n}}}^x((f')_x) \\ & \leq \frac{C(1+x)}{n-r-2} \sum_{k=1}^{[\sqrt{n}]} \bigvee_{x-\frac{x}{k}}^x((f')_x) + \frac{x}{\sqrt{n}} \bigvee_{x-\frac{x}{\sqrt{n}}}^x((f')_x), \end{aligned} \tag{3.8}$$

where  $u = \frac{x}{x-t}$ .

The required result is obtained on combining (3.5), (3.7) and (3.8).  $\square$

As a consequence of Lemma 3, we have the following corollary:

**Corollary 1.** *Let  $f^{(s)} \in DB_q(0, \infty)$ ,  $q > 0$  and  $x \in (0, \infty)$ . Then for  $C > 2$  and for  $n$  sufficiently large, we have*

$$\begin{aligned} & \left| \frac{((n-1)!)^2}{(n+r-1)!(n-r-1)!} D^s V_{n,r}(f, x) - f^{(s)}(x) \right| \\ & \leq \frac{C(1+x)}{n-r-2} \sum_{k=1}^{\lfloor \sqrt{n} \rfloor} \bigvee_{x-x/k}^{x+x/k} ((D^{s+1}f)_x) + \frac{x}{\sqrt{n}} \bigvee_{x-x/\sqrt{n}}^{x+x/\sqrt{n}} ((D^{s+1}f)_x) + \frac{C(1+x)}{x(n-r-2)} \\ & \quad \times (|D^s f(2x) - D^s f(x) - xD^{s+1}f(x^+)| + |D^s f(x)|) + O(n^{-q}) \\ & \quad + \frac{C(1+x)}{n-r-2} |D^{s+1}f(x^+)| + \frac{1}{2} \sqrt{\frac{Cx(1+x)}{n}} |D^{s+1}f(x^+) - D^{s+1}f(x^-)| \\ & \quad + \frac{1}{2} |D^{s+1}f(x^+) + D^{s+1}f(x^-)| \frac{(1+r) + x(1+2r)}{n-r-1}, \end{aligned}$$

where  $\bigvee_a^b f(x)$  denotes the total variation of  $f_x$  on  $[a, b]$ , and  $f_x$  is defined by

$$D^{s+1}f_x(t) = \begin{cases} D^{s+1}f(t) - D^{s+1}f(x^-), & 0 \leq t < x; \\ 0, & t = x; \\ D^{s+1}f(t) - D^{s+1}f(x^+), & x < t < \infty. \end{cases}$$

## Acknowledgement

The authors are thankful to the referee for making valuable suggestions, leading to a better presentation of the paper.

## References

- [1] P.N. Agrawal, A.R. Gairola, On  $L_p$ -inverse theorem for a linear combination of Szász–Beta operators, *Thai J Math* 8 (3) (2010) 11–20.
- [2] N. Deo, Pointwise estimate for modified Baskakov type operators, *Lobachevskii J Math* 31 (1) (2010) 36–42.
- [3] N. Deo, N. Bhardwaj, On the degree of approximation by modified Baskakov operators, *Lobachevskii J Math* 32 (1) (2011) 16–22.
- [4] N. Deo, S.P. Singh, On the degree of approximation by new Durrmeyer type operators, *Gen Math* 18 (2) (2010) 195–209.
- [5] A.R. Gairola, On certain Baskakov–Durrmeyer type operators, *Surv Math Appl* 5 (2010) 123–124.
- [6] V. Gupta, A note on modified Baskakov type operators, *Approx Theory Appl* 10 (3) (1994) 75–78.
- [7] A. Sahai, G. Prasad, On simultaneous approximation by modified Lupas operators, *J Approx Theory* 45 (1985) 122–128.
- [8] Z. Walczak, Baskakov type operator, *Rocky Mountain, J Math* 39 (3) (2009) 981–993.
- [9] X.M. Zeng, On the rate of convergence of the generalized Szász type operators for functions of bounded variation, *J Math Anal Appl* 226 (1998) 309–325.

- 
- [10] X.M. Zeng, W. Tao, Rate of convergence of the integral type Lupas–Bézier operators, *Kyungpook Math J* 43 (2003) 593–604.
- [11] X.M. Zeng, X. Cheng, Pointwise approximation by the modified Szász–Mirakyan operators, *J Comput Anal Appl* 9 (4) (2007) 421–430.